R VCE & PDF https://www.geekcert.com/2v0-622.html
' 2024 Latest geekcert 2V0-622 PDF and VCE dumps Download
g GeekCert.com

2V 0-62204As

VMware Certified Professional 6.5 — Data Center Virtualization (6.5)
Exam

Pass VMware 2V0-622 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.geekcert.com/2v0-622.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by VMware
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEE
Satisfied Customers

Q00O

2V0-622 PDF Dumps | 2V0-622 Practice Test | 2V0-622 Study Guide 1/4


https://www.geekcert.com/2v0-622.html
https://www.geekcert.com/2v0-622.html
https://www.geekcert.com/2v0-622.html

VCE & PDF https://lwww.geekcert.com/2v0-622.html
2024 Latest geekcert 2V0-622 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

Which are four attributes of the Active vCenter HA node? (Choose four.)
A. It uses the vCenter HA network to communicate with the Witness node.
B. It constantly replicates vPostgres data with the Witness node.

C. It uses a public IP address for the management interface.

D. It runs the active vCenter Server Appliance instance.

E. It uses the vCenter HA network for replication of data;

F. It provides a quorum to protect against split-brain situations.

Correct Answer: ACDE

https://docs.vmware.com/en/VMware-
vSphere/6.5/com.vmware.vsphere.avail.doc/GUID-2D395533-4C7C45A6-9B5C-0A78C3E3A5C8.html

QUESTION 2

In a vSphere environment, two resource pools are created as shown in the Exhibit.

6GHz, 6GB

2GHz, 2GB

Each VM is configured with 1 GB of memory. When the administrator tried to power on VM3, the operation
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failed.

What action in the resource pool settings will allow VM3 to power on successfully?
A. Increase Memory Reservation.

B. Deselect Expandable Memory Reservation

C. Increase the CPU Reservation

D. Deselect Expandable CPU Reservation.

Correct Answer: A

QUESTION 3

What are two requirements in order to restore a Resource Pool Tree from a snapshot? (Choose two.)
A. A restore can only be performed on the same cluster the snapshot was taken from.

B. vSphere DRS must be turned on.

C. vSphere DRS must be turned off.

D. A restore can only be performed on a vSphere DRS cluster within the original vCenter Server.

Correct Answer: AD

QUESTION 4
Column Description
CMDS/s This is the total amount of commands per second and includes IOPS (Input/Output Operations Per

Second) and other SCSI commands such as SCSI reservations, locks, vendor string requests, unit
attention commands etc. being sent to or coming from the device or virtual machine being
monitored.

In most cases, CMDS/s = IOPS unless there are a lot of metadata operations (such as SCSI
reservations)

DAVG/emd | This is the average response time in milliseconds per command being sent to the device.

KAVG/cmd | This is the amount of time the command spends in the VMkernel.

GAVG/emd | This is the response time as it is perceived by the guest operating system. This number is
calculated with the formula: DAVG + KAVG = GAVG

Which two statements are true about Highly Available vSphere Auto Deploy infrastructure? (Choose two.)
A. Itis a prerequisite for using vSphere Auto Deploy with stateful install.

B. It requires two or more Auto Deploy servers.

C. Itis a prerequisite for using vSphere Auto Deploy with stateless caching.

D. It helps prevent data loss.
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Correct Answer: AD

In many production situations, a highly available Auto Deploy infrastructure is required to prevent data loss. Such an
infrastructure is also a prerequisite for using Auto Deploy with stateless caching.

QUESTION 5

An administrator is attempting to access an ESXi host via the DCUI but is unable to do so. Which could be two possible
causes? (Choose two.)

A. The host in question has no out-of-band management capability (i.e. iLO/iIDRAC).

B. The SSH service is disabled on the host.

C. Strict lockdown mode is enabled on the host.

D. Normal lockdown mode is enabled and the administrator is a member of the Exception User list.
E. The DCUI service is disabled on the host.

Correct Answer: CE
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